

Lösung: Auflösen der Bilanz

Aufgabe 1

Aktiva		Bilanz	Passiva	
I. AV			I. EK	59.060,00
1. MA	80.000,00		II. FK	
2. BA	44.800,00		1. LBKV	120.000,00
II. UV			2. VE	48.460,00
1. V	60.200,00			
2. FO	26.720,00			
3. BK	14.000,00			
4. KA	1.800,00			
	227.520,00			277.520,00

S	MA		H
AB	80.000,00		

S	VE		H
		AB	48.460,00

S	KA		H
AB	1.800,00		

Aufgabe 2

Aufgabe 1		
1.	FP	VE
2.	+	+
3.	Aktiv	Passiv
4.	Soll	Haben

Aufgabe 2		
1.	FO	BK
2.	-	+
3.	Aktiv	Aktiv
4.	Haben	Soll

Aufgabe 3		
1.	KA	BK
2.	-	+
3.	Aktiv	Aktiv
4.	Haben	Soll

Aufgabe 4		
1.	BVG	FO
2.	-	+
3.	Aktiv	Aktiv
4.	Haben	Soll

Aufgabe 5		
1.	KA	BA
2.	-	+
3.	Aktiv	Aktiv
4.	Haben	Soll

Aufgabe 6		
1.	BK	LBKV
2.	+	+
3.	Aktiv	Passiv
4.	Soll	Haben

Aufgabe 7		
1.	BK	VE
2.	-	-
3.	Aktiv	Passiv
4.	Haben	Soll